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61.  Access time of cache memory is 10 ns and 
access time of main memory is 100 ns. Hit 
ratio is 0.8. What is average access time to 
access the data?

 a)  30 ns

 b)  48 ns

 c)  52 ns

 d)  28 ns

62.  If the likely hood (probability) of getting a 
cache hit goes up, the average access time

 a)  Goes up

 b)  Goes down

 c)  Remains same

 d)  Unpredictable

63.  3FFF will be the last memory location in a 
memory size

 a)  1K

 b)  16 K

 c)  32 K

 d)  64K

64.  The inorder and preorder traversal of a binary 
tree are dbeafcg and abdecfg respectively. 
The postorder traversal of the binary tree is

 a)  edbgfca

 b)  debfgca

 c)  edbfgca

 d)  defgbca

65.  What is the number of vertices in an 
undirected connected graph with 27 edges, 6 
vertices of degree 2, 3 vertices of degree 4 
and remaining of degree 3?

 a.  10

 b.  11

 c.  18

 d.  19
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66.  Which file starts MS Word?

 a.  winword.exe

 b.  word.exe

 c.  msword.exe

 d.  wordmiso.exe

67.  A system contains three programs and each 
requires three tape units for its operation. The 
minimum number of tape units which the 
system must have such that deadlocks never 
arise is

 a)  9

 b)  6

 c)  7

 d)  8

68.  The minimum number of cards to be dealt from 
an arbitrarily shuffled deck of 52 cards to 
guarantee that three cards are from same suit is

 a)  3 

 b)  8 

 c)  9 

 d)  12 

69.  To password protect a MS-Word 2007 
document, in ‘Save As’ option which option is 
used to password protects the document.

 a)  Tools/general option

 b)  Organize/protect

 c)  Tools/save options

 d)  Encrypt/password

70.  Let P(E) denote the probability of the event E. 
Given P (A) = 1, P (B) = ½, and A and B are 
independent, the values of P (A|B) and P(B|A) 
respectively are

 a)  ¼ , ½

 b)  ½ , ¼

 c)  1 , ½

 d)  ½ , 1
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71.  Which one of the following array represents a 
binary max-heap?

 a)  {25,14,16,13,10,8,12}

 b)  {25,14,13,16,10,8,12}

 c)  {25,12,16,13,10,8,14}

 d)  {25,14,12,13,10,8,16}

72.  f(A, B) = A' + B. Simplified expression for 
function f(f(x + y, y), z) is

 a)  x'+ z

 b)  xy'+z

 c)  xyz

 d)  xy + z’

73.  Hardware address of computer in IEEE 802 
format is

 a)  48 bits

 b)  64 bits

 c)  32 bits

 d)  128 bits

74.  If (73)x (in base-x number system) is equal to 
(54)y (in base-y number system), the possible 
value of x and y are

 a)  8, 16

 b)  8, 11

 c)  10, 12

 d)  9, 13

75.  How many maximum primary partitions can 
exist on one hard drive? 

 a)  16 

 b)  4 

 c)  2 

 d)  1

76.  Consider a direct mapped cache of size 32 KB 
with block size 32 bytes. The CPU generates 32 
bit addresses. The number of bits needed for 
cache indexing and the number of tag bits are 
respectively

 a)  10, 17

 b)  10, 22

 c)  15, 17

 d)  5, 17
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77.  How many 32K X 1 RAM chips are needed to 
provide a memory capacity of 256 K-bytes?

 a)  8

 b)  32

 c)  64

 d)  128

78.  In a class B network on the Internet has a subnet 
mask of 255.255.248.0. What is maximum 
number of hosts per subnet?

 a)  1022

 b)  1023

 c)  2046

 d)  2047

79.  A RAM chip has capacity of 1024 words of 8 
bits each (1K X 8). The number of 2 X 4 
decoders with enable line needed to construct a 
16 K X 16 RAM from 1 K X 8 RAM is

 a)  4

 b)  5

 c)  6

 d)  7

80.  Consider a disk pack with 16 surfaces, 128 
tracks per surface and 256 sectors per track, 512 
bytes of data are stored in a bit serial manner in a 
sector. The capacity of the disk pack and the 
number of bits required to specify a particular 
sector in the disk are respectively.

 a.  256 Mbytes, 19 bits

 b.  256 Mbytes, 28 bits

 c.  512 Mbytes, 20 bits

 d.  64 Gbytes, 28 bits

81.  What is the correct HTML code for making a 
hyperlink?

 a)  <a href=”http:// mcqsets.com”>ICT Trends  
Quiz</a>

 b)  <a name=”http://mcqsets.com”>ICT 
Trends Quiz</a>

 c)  <http://mcqsets.com</a>

 d)  url=”http://mcqsets.com”>ICT Trends 
Quiz
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82.  The best data structure to check whether an 
arithmetic expression has balanced parenthesis 
is

 a)  queue

 b)  stack

 c)  tree

 d)  link list

83.  Which of the following is the correct operator 
to compare two variables in C?

 a)  :=

 b)  =

 c)  =:

 d)  = =

84.  In which one of the following page replacement 
policies, belady’s anomaly may occur?

 a)  FIFO

 b)  Optimal

 c)  LRU

 d)  MRU

85.  In C programming, if the two strings are 
identical, then strcmp() function returns

 a)  -1

 b)  1

 c)  true

 d)  0

86.  A counting semaphore was initialized to 10. 
Then 6 P (wait) operations and 4 V (signal) 
operations were completed on this semaphore. 
The resulting value of the semaphore is

 a)  0

 b)  8

 c)  10

 d)  12
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87.  What is the output of the following program? 
“Assume required header files are included”

 

 How many times letter "x" will be printed?

 a)  1

 b)  5

 c)  4

 d)  10

88.  What is the output of the following program? 
“Assume required header files are included”

 void main()

 {  int x = 3;

  printf(“%d %d”, x >> 2, x << 1);

 }

 a)  6, 6

 b)  0, 6

 c)  6, 0

 d)  0, 0

89.  Consider the following segment in C? What is 
the size of p in bytes?

 struct

 {

 char x;

 char y;

 int xy;

 }p;

 

 a)  7

 b)  6

 c)  5

 d)  4
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90.  In C language, the result of expression ~~7 is

 a)  7

 b)  1

 c)  0

 d)  Wrong Operation

91.  What is the output of the following program 
with user input of number 6? “Assume required 
header files are included”.

 void main ()

 {  int a, b = 10;

  scanf(“ %d”, &a);

  if ( a = = 0)

  b * = 2;

  else

  b /= 2;

  printf (“%d”,b++);

 }

 a)  12

 b)  10

 c)  5

 d)  6

92.  Consider the following statement in C 
language.

 x = (a > b) ? ((a > c) ? a : c) : (b > c) ? b : c;

 What will be the value of x if a = 3, b = -5 and 

 c = 2 ?

 a)  2

 b)  -4

 c)  -5

 d)  3

93.  Which of the followings is not a bit-wise 
operator in C? 

 a)  > 

 b)  >> 

 c)  ^ 

 d)  &
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94 .  What  i s  the  ou tpu t  o f  the  fo l lowing 
program?“Assume required header files are 
included”

 void main()

 {

  printf("%d", f(5));

 }

 int f (int x)

 {

  if (x <= 0)

  return 1;

  return f( x – 1) + x;

 }

 a)  16

 b)  12

 c)  15

 d)  11

95.  What is the value of following expression in C?

 11 ̂  5;

 a)  15

 b)  6

 c)  8

 d)  14

96.  What is maximum height of any AVL-tree with 
7 nodes? Assume that the height of a tree with a 
single node is 0.

 a)  2

 b)  4

 c)  3

 d)  5

97.  The result of -7 mod 12 is:

 a)  -7

 b)  12

 c)  -5

 d)  5
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98.  A …………… attaches itself to executable files 
and replicates, when the infected program is 
executed, by finding other executable files to 
infect.

 a)  Stealth Virus

 b)  Parasitic Virus

 c)  Polymorphic Virus

 d)  Macro Virus

99.  IP Security operates in which layer of the OSI 
model?

 a)  Network

 b)  Transport

 c)  Application

 d)  Physical

100.  The result evaluating the postfix expression 

 10 5 + 60 6 / * 8 -

 a)  284

 b)  213

 c)  142

 d)  71

101.  Public-key encryption is also known as

 a)  optimal-key encryption

 b)  digital-key encryption

 c)  asymmetric encryption

 d)  one way exchange encryption

102.  .…........… programs can be used to accomplish 
functions indirectly that an unauthorized user 
could not accomplish directly.

 a)  Zombie

 b)  Worm

 c)  Trojan Horses

 d)  Logic Bomb
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103.  In computer security, ……………… means 
that the information in a computer system only 
be accessible for reading by authorized parities. 

 a)  Confidentiality 
 b)  Integrity 
 c)  Availability 
 d)  Authenticity 

104.  Virus related with Word and Excel files
 a)  Resident Virus
 b)  Macro
 c)  Boot Sector Virus
 d)  Trojan Horse

105.  Which of the following transport layer protocol 
is used to support electronic mail?

 a)  SMTP
 b)  IP
 c)  UDP
 d)  TCP

106.  Not an address of private networkin IP address 
in 32- bit addressing scheme?

 a)  172.18.31.44
 b)  192.168.34.127
 c)  10.1.1.2
 d)  all are valid addresses

107.  A subnet has been assigned a subnet mask of 
255.255.255.192. What is the maximum 
number of hosts that can belong to this subnet?

 a)  14
 b)  30
 c)  62
 d)  126

108.  The maximum number of superkeys for the 
relation schema R(E,F,G,H) with E as the key 
is? 

 a.  4 
 b.  8 
 c.  7 
 d.  6
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109.  Consider the join of a relation R with a relation 
S. If R has m tuples, and S has n tuples, then the 
maximum and minimum sizes of the join 
respectively are:

 a)  m+n and 0
 b)  mn and m+n
 c)  m+n and |m−n|
 d)  mn and 0

110.  Which of the following is TRUE?
 a)  Every relation in BCNF is also in 3NF
 b) Every relation in 3NF is also in BCNF
 c)  A relation R is in 3NF if every non-prime 

attribute of R is fully functionally 
dependent on every key of R

 d)  No relation can be both BCNF and 3NF

111.  Drop Table cannot be used to drop a Table 
referenced by …………….. Constraint.

 a)  Primary key
 b)  Sub key
 c)  Super key
 d)  Foreign key

112.  Division operation is ideally suited to handle 
queries of the type:

 a)  Customers who have no account in any of 
the branches in Kullu.

 b)  Customers who have an account at all 
branches in Kullu.

 c)  Customers who have an account in at least 
one branch in Kullu.

 d)  Customers who have only joint account in 
any one branch in Kullu.

113.  A binary search tree is generated by inserting in 
order of following integers: 50, 15, 62, 5, 20, 
58, 91, 3, 8, 37, 60, 24. The number of nodes in 
the left subtree and right subtree of the root 
respectively.

 a)  (4,7)
 b)  (8,3)
 c)  (7,4)
 d)  (3,8)
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114.  Consider the relations r1(P,Q,R) and r2(R,S,T) 
with primary keys P and R respectively. The 
relation r1 contains 2000 tuples and r2 contains 
2500 tuples. The maximum size of the join r1 
⟕ r2 is 

 a)  2000 
 b)  2500 
 c)  4500 
 d)  500

115.  Let R(A,B,C,D,E,F) be a relation scheme with 
the following dependencies: C→ F, E → A, 
EC→ D,  A→B. Which of the following is a 
key for R?

 a)  EC
 b)  CD
 c)  AE
 d)  AC

116.  A prime attribute of a relation schema R is an 
attribute that appears

 a)  In all candidate keys of R
 b)  In some candidate keys of R
 c)  In a foreign key of R
 d)  Only in primary key of R

117.  A process executes the code :fork( ); fork ( ); 
fork ( );

 The total number of child processes created is
 a)  3
 b)  4
 c)  7
 d)  8

118.  IP Address 127.0.0.1is
 a)  Loop Back Address
 b)  Broadcast Address
 c)  Multi Cast Address
 d)  Subnet Address
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119.  ________is used by web server to authenticate 
the user on internet.

 a)  Cookie
 b)  Virus
 c)  Trojan horse
 d)  Worm

120.  The permission bits of file cuhp can be set to 
rw_ r_ x _ wx by the command in Unix 
operating system.

 a)  chmod 214 cuhp
 b)  chmod 653 cuhp
 c)  chmod 316 cuhp
 d)  chmod 615 cuhp
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